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9304 

M. B. A. IV Semester Examination, 2019 

Projects Planning, Analysis & Management 

 

Time: Three Hours 

Maximum Marks: 80 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj    50505050 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 40] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250250250250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 20] 

Answer any two questions (500 words each). 

All questions carry equal marks. 

    dksbZ nksnksnksnks    iz’uiz’uiz’uiz’u dhft,A izR;sd iz’u dk mŸkj 555500000000 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M [k.M [k.M [k.M & v& v& v& v 

Q.1 Answer all questions :   

 lHkh iz’uksa ds mÙkj nhft, %  

 (a) What is Project Management?  

  izkstsDV eSustesaV D;k gS\ 

 (b) What is capital expenditure? 

  iwathxr [kpsZ D;k gSa\ 

 (c) Write short note on Financial Analysis. 

  foÙkh; fo’ys"k.k ij laf{kIr fVIi.kh dhft;sA 

 (d) What do you mean by market demand analysis? 

  cktkj dh ekax ds fo’ys"k.k ls vkidk D;k vfHkizk; gS\ 

 (e) What is Social Cost Benefit Analysis (SCBA)? 

  lkekftd ykxr ykHk fo’ys"k.k (SCBA) D;k gS\ 

 (f) What do you mean by multiple projects? 

  dbZ ifj;kstukvksa ls vkidk D;k vfHkizk; gS\ 

 (g) What is the full name of PERT and CPM? 

  PERT vkSj CPM dk iwjk uke D;k gS\ 

 (h) What is predecessor activity? 

  iwoZorhZ xfrfof/k D;k gS\ 

 (i) Write name of any two public sector enterprises in India. 

  Hkkjr esa fdlh Hkh nks lkoZtfud {ks= ds m|eksa ds uke fy[ksaA 

 (j) What is tax burden in project management? 

  ifj;kstuk izca/ku esa dj dk cks> D;k gS\ 



 

 

[9304]  Page 3 of 7  

  

PART – B @ @ @ @ [k.M [k.M [k.M [k.M & & & & cccc    
UNIT – I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 What do you mean by Generation and screening of project idea? Explain in detail. 

 izkstsDV vkbfM;k ds tujs’ku vkSj LØhfuax ls vkidk D;k eryc gS\ foLrkj ls le>kb;sA 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.3 What is the importance of capital expenditure in project management? 

 ifj;kstuk izca/ku esa iwathxr O;; dk D;k egRo gS\ 

UNIT – II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 How market demand is analyzed in project management? 

 izkstsDV eSustesaV esa ckt+kj ekax dks dSls Kkr fd;k tkrk gS\ 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.5 What is the difference between technical and financial analysis? 

 rduhdh vkSj foÙkh; fo’ys"k.k ds chp varj D;k gS\ 

UNIT – III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 How project risk is analyzed? Explain firm risk and market risk. 

 ifj;kstuk tksf[ke dk fo’ys"k.k dSls fd;k tkrk gS\ Li"V tksf[ke vkSj cktkj tksf[ke dh O;k[;k 

djsaA 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.7 What are the constraints in managing multiple projects? 

 dbZ ifj;kstukvksa ds izca/ku esa D;k vM+pus gSa\ 

UNIT – IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 (a) Explain Merge Event, Burst Event, Combined Merge and Burst Event by drawing 

diagrams. 

  vkjs[kksa dks tksM+dj etZ bosaV] cLVZ bosaV] dackbaM etZ vkSj cLVZ bosaV dks le>k,aA 

 (b) Explain successor and concurrent activities by drawing diagrams. 

  vkjs[kksa dks [khapdj mÙkjkf/kdkjh vkSj leorhZ xfrfof/k;ksa dh O;k[;k djsaA 

OR@ @ @ @ vFkokvFkokvFkokvFkok 
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Q.9 A project comprising of eight tasks (A to H) has the following characteristics- 

 vkB dk;ksZa (A ls H) okys izkstsDV esa fuEufyf[kr fo’ks"krk,a gSa &  

Tasks Predecessor Time duration (Weeks) 

  Optimistic Most Likely Pessimistic 

A None 2 4 12 

B None 10 12 26 

C A 8 9 10 

D A 10 15 20 

E A 7 7.5 11 

F B, C 9 9 9 

G D 3 3.5 7 

H E, F, G 5 5 5 

 

 (a) Calculate the time duration of each activity and the variance. 

  izR;sd xfrfof/k dh le; vof/k vkSj fopj.k dh x.kuk djsaA 

 (b) Draw the network diagram, determine the critical path and mark in the network. 

What is the total project duration? 

 usVodZ vkjs[k cuk,a] egRoiw.kZ iFk fu/kkZfjr djsa vkSj usVodZ esa fpfºur djsaA dqy ifj;kstuk 

vof/k D;k gS\  

 (c) What is the probability of achieving the project within the deadline of 30 weeks? 

 30 lIrkg dh le; lhek ds Hkhrj ifj;kstuk ds lekIr gksus dh D;k laHkkouk gS\ 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Explain the problem of time and cost overrun in public sector enterprises in India.   

 Hkkjr esa lkoZtfud {ks= ds m|eksa esa le; vkSj ykxr dh leL;k ds ckjs esa crk,aA 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.11 Write a brief note on environmental appraisal of projects.  

 ifj;kstukvksa ds i;kZoj.kh; ewY;kadu ij ,d laf{kIr uksV fy[ksaA 
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PART – C @ @ @ @ [k.M [k.M [k.M [k.M & & & & llll 

Q.12 What are the difficulties in capital expenditure of project management? 

 ifj;kstuk izca/ku ds iwathxr O;; esa D;k dfBukb;k¡ gSa\ 

Q.13 What do you mean by Project Feasibility Study? Explain various steps. 

 izkstsDV Qhft+fcfyVh LVMh ls vkidk D;k vfHkizk; gS\ fofHkUu pj.kksa dh O;k[;k djsaA 

Q.14 A government is considering building a tunnel across a sea channel which can currently 

only be crossed by ship. The following information is available: 

 (i) The tunnel will consist of a two-track railway and cars and passengers will be 

carried by train. It will cut crossing time 2 hours for cars and passengers.  

 (ii) The relevant categories of traffic are: 

  (a) Cars (and their passengers) 

  (b) Passengers not in cars 

  (c) Freight 

 (iii) The authorities who would operate the tunnel have decided to charge a toll which 

would maximize revenue. The toll that they have decided to charge is `160 per 

car which compares favorably with the charged by ship which is ` 200. 

 (iv) Because of the quicker and cheaper journey available, it is forecast that the 

following traffic per year for the foreseeable future will be diverted from the 

existing method of travel: 

  75,000 cars (with an average of two passengers) 

  50000 passengers not in cars 

  3,50,000 tonnes of freight 

  In addition 50,000 extra car journey (with 2 passengers each) will be made. 

 (v) The average value of passenger time is ` 6 per hour. 

 (vi) The diverted traffic will reduce the cost of operation of the existing ship by ` 40 

million a year, while at the forecast level of traffic, the maintenance and operating 

cost of the tunnel, will be ` 3 million. Its capital cost will be ` 400 million. 

  The life of the tunnel will be 50 years.  

 (vii) Assuming that the monetary figures given above reflect social value, calculate the 

NPV at 10% of the stream of social cost and benefits. 
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 ,d ljdkj ,d leqnz pSuy ds ikj ,d lqjax cukus ij fopkj dj jgh gS ftls orZeku esa dsoy 

tgkt }kjk ikj fd;k tk ldrk gSA fuEufyf[kr tkudkjh miyC/k gS& 

 ¼i½ lqjax esa nks&VªSd jsyos vkSj dkjsa gksaxh vkSj ;kf=;ksa dks Vªsu }kjk ys tk;k tk,xkA ;g dkjksa vkSj 

;kf=;ksa ds fy, ØkWflax ds le; esa 2 ?kaVs dh dVkSrh djsxkA 

 ¼ii½ ;krk;kr dh izklafxd Jsf.k;ka gSa % 

  ¼a½ dkjsa ¼vkSj muds ;k=h½ 

  ¼b½ ;k=h dkjksa esa ugha  

  ¼c½ ÝsV  

 ¼iii½ lqjax dk lapkyu djus okys vf/kdkfj;ksa us ,d Vksy olwyus dk fu.kZ; fy;k gS tks jktLo dks 

vf/kdre djsxkA mUgksaus tks Vksy olwyus dk QSlyk fd;k gS og `160 izfr dkj tks tgkt 

}kjk pktZ fd, tkus ds lkFk vuqdwy :i ls rqyuk djrk gS tks `200 gSA 

 ¼iv½ tYnh vkSj lLrh ;k=k miyC/k gksus ds dkj.k] ;g iwokZuqeku gS fd Hkfo"; ds fy, izfr o"kZ 

fuEufyf[kr ;krk;kr ;k=k dh ekStwnk i)fr ls ifjofrZr fd;k tk,xk% 

  75]000 dkjsa ¼vkSlr nks ;kf=;ksa ds lkFk½ 

  50]000 ;k=h dkjksa esa ugha  

  3]50]000 Vu dk HkkM+k 

  blds vykok 50]000 vfrfjDr dkj ;k=k ¼2 ;kf=;ksa ds lkFk izR;sd½ dh tk,xhA 

 ¼v½ ;k=h le; dk vkSlr ewY; `6 izfr ?kaVk 

 ¼vi½ ifjofrZr fd, x, VªSfQd ls ekStwnk tgkt ds lapkyu dh ykxr esa `40 fefy;u izfr o"kZ dh 

deh vk,xh] tcfd ;krk;kr ds iwokZuqeku Lrj ij] lqjax ds j[k&j[kko vkSj lapkyu dh ykxr 

`3 fefy;u vk,xhA bldh iwath ykxr `400 fefy;u gksxhA lqjax dk thoudky 50 o"kZ 

gksxkA 

 ¼vii½ ;g ekurs gq, fd Åij fn, x, ekSfnzd vkadM+s lkekftd ewY; dks n’kkZrs gSa] lkekftd ykxr 

vkSj ykHkksa ds vk/kkj ij 10% ij ,uihoh dh x.kuk dhft;sA 
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Q.15 Construct a network diagram by showing critical path and calculate: 

 egRoiw.kZ iFk fn[kkdj ,d usVodZ vkjs[k dk fuekZ.k djsa vkSj x.kuk djsa %  

  (a) EST, LST, EFT and LFT 

 (b) Total Float, Free Float and Independent float.  

Activity 1-2 1-3 1-4 2-4 2-5 3-6 4-6 5-7 6-7 6-8 7-8 8-9 

Duration 

(Days) 

4 12 10 8 6 8 10 10 0 8 10 6 

 

Q.16 Write short note on any two -   

 (a) Project Review 

 (b) Project Financing in India 

 (c) Administrative Aspects of Project  

 fdlh Hkh nks ij laf{kIr uksV fy[ksa & 

 ¼a½ ifj;kstuk dh leh{kk  

 ¼b½ Hkkjr esa izkstsDV Qkbusaflax  

 ¼c½ ifj;kstuk ds iz’kklfud igyw 

----------------------------------------- 


